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A 750-g collar can slide along the horizontal rod shown. It 1s attached
to an elastic cord with an undeformed length of 300 mm and a spring
constant of 150 N/m. Knowing that the collar is released from rest
at A and neglecting friction, determine the speed of the collar (a) at B,
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A 2-Ib collar C may slide without friction along a horizontal rod. It
1s attached to three springs, each of constant 30 Ib/ft and 2-in. unde-
formed length. Knowing that the collar is released from rest in the posi-
tion shown, determine the maximum speed it will reach 1n the ensuing

motion. T e . .
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